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Note : This paper is of forty (40) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

[k.Mksa ^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks 

bu [k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa 

ds mŸkj nsus gSaA  

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of nine and half (9 1
2

) marks each. 

Learners are required to answer two (02) questions 

only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<s+ ukS ¼9
1
2
½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Define Soil. Describe in brief different chemical 

properties of Soil.  

feV~Vh dks ifjHkkf”kr dhft,A feV~Vh ds fofHkUu jklk;fud 

xq.kksa dk laf{kIr esa o.kZu dhft,A  

2. What is Ecosystem ? What are the various components 

of ecosystem ?  

ikfjfLFkfrd ra= D;k gS \ ikfjfLFkfrd ra= ds fofHkUu ?kVd 

dkSu&dkSuls gSa \  

3. Describe in brief about different types of fruits and 

explain their economic importance.  

fofHkUu izdkj ds Qyksa ds ckjs esa laf{kIr esa crkb, ,oa mudk 

vkfFkZd egRo Hkh crkb,A  

4. Explain in detail about the origin, botanical characters, 

cultivation and uses of Rice.  

pkoy dh mRifŸk] okuLifrd y{k.k] mxkus ds rjhds ,oa 

mi;ksx ds ckjs esa foLrkj ls crkb,A  

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of four (04) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, pkj ¼04½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Write a note on stratification in forest.  

taxyksa esa Lrjhdj.k ij ,d fVIi.kh fyf[k,A  

2. Differentiate between primary and secondary 

succession. 

izkFkfed ,oa f}rh;d vuqØe.k eas vUrj crkb,A  

3. What do you mean by energy flow through  

community ?  

leqnk; ds chp ÅtkZ ds izokg ls vki D;k le>rs gSa \ 

4. Differentiate between lentic water ecosystem and lotic 

water ecosystem with example.  

fLFkj ty okys tyk’k;ksa ,oa cgrs tyk’k;ksa ds ikfjfLFkfrd 

ra= esa mnkgj.k lfgr vUrj crkb,A  

5. Discuss about origin, kinds and uses of maize.  

eDds dh mRifŸk] izdkj ,oa mi;ksxksa ds ckjs esa crkb,A  

6. Write a brief note on apple or orange.  

lsc ;k larjs ij ,d laf{kIr fVIi.kh fyf[k,A  

7. Write down the name of any five varieties of wheat. 

xsgw¡ dh fdUgha ik¡p mUur fdLeksa ds uke fyf[k,A  

8. Discuss in brief about the processing of fibre.  

js’ks dh lalk/ku fof/k ij laf{kIr fVIi.kh fyf[k,A  
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of half 1
2

 mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk 1
2

 vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the right answer : 

lgh mŸkj pqfu;s % 

1. Climax community of succession is called :  

(a) Pioneer community  

(b) Seral community 

(c) Climax community 

(d) None of the above  

vuqØe.k ds vfUre leqnk; dks dgrs gSa % 

¼v½ uohu leqnk; 

¼c½ Øedh leqnk; 

¼l½ pje leqnk; 

¼n½ mi;qZDr eas ls dksbZ ugha  

2. Key-stone species affects to :  

(a) Energy flow  

(b) Food chain  

(c) Nutrient cycle  

(d) All of the above  
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dh&LVksu iztkfr izHkkfor djrh gS % 

¼v½ ÅtkZ izokg dks  

¼c½ [kk|Ük`a[kyk dks  

¼l½ [kfut pØ dks  

¼n½ mi;qZDr lHkh dks  

3. Energy conserved at consumer level is called :  

(a) Net primary productivity  

(b) Gross primary productivity 

(c) Secondary productivity 

(d) Total productivity 

miHkksDrk Lrj ij laxzfgr ÅtkZ dks dgrs gSa % 

¼v½ Qfyr izkFkfed mRikndrk  

¼c½ ldy izkFkfed mRikndrk 

¼l½ f}rh;d mRikndrk 

¼n½ dqy mRikndrk 

4. Wheat is :  

(a) Seed  

(b) Embryo  

(c) Fruit  

(d) Stem  

xsgw¡ gS % 

¼v½ cht  

¼c½ Hkwz.k  

¼l½ Qy  

¼n½ ruk  
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5. Mango belongs to which family ?  

(a) Meliaceae  

(b) Solanaceae  

(c) Leguminosae  

(d) Anacardiaceae  

vke fuEu eas fdl dqy ls lEcU/k j[krk gS \ 

¼v½ fefy,lh   

¼c½ lksysuslh  

¼l½ fyX;wfeuslh  

¼n½ ,ukdkfMZ,lh  

Indicate True/False :  

lR;@vlR; fyf[k, % 

6. The cycling of nutrient in ecosystem is called chemical 

cycle.  

ikfjfLFkfrd ra= esa vo;oksa ds pØ.k dks jklk;fud pØ 

dgrs gSaA  

7. Phytoplanktons absorb carbon dioxide from water.  

tyh; ikS/ks dkcZu MkbvkWDlkbM dk vo’kks”k.k ty ls djrs 

gSaA  

8. Tea belongs to family Theaceae. 

pk; Fkh,lh dqy ls lEcU/k j[krh gSA  

9. Central Potato Research Institute (CPRI) is located at 

Shimla.  

dsUnzh; vkyw vuqlU/kku laLFkku (CPRI) f’keyk esa fLFkr gSA  

10. Red gram is Glycine max. 

yky puk Xyk;flu eSDl gSA 
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